Discriminant

* To find the number of real solution of a
quadratic equation, calculate the
discriminant: b? — 4ac

s If b? — 4ac>0 (positive) then there are 2
J. real solutions N/o&é—
. If b — 4ac=0 then there is one real
solution
* If b2 — 4ac <0 (negative) then there is NO
real solution, there is a complex conjugate
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In the aquation above, tis a
constant. If the equation has no

real solutions, which of the
following could be the value

A, -3
B. -1
c. 1
D. 3

Discriminant ZLO
\stmerhod  Guess & chack

2 -4 Y - -3 (P{)
\%armr:’of 2Z¥*- 4y +2 =0
Cind Diseriminant a2 bx-4 c=3

W-bac = (y)*- 4(2)(8)
= - £LO
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